S
5 xS e R
o
5 & . L=
i7e [+7ne?

> @faasj;i;j( + Cﬁs”"‘él - dor
L el
oI I—‘ef@&

% d d

dy _ sec*(z-y) -2
& Exy” + sec(7-4)

).7. ;%\C(?ﬁgm’ﬂ) — %(%0\3\7)

= % e S 3 esmﬁ CosSA = @53—7(5“’73/%

o dy| oy g I
3 = e t esn‘?( - (
s J A=o, ﬂ—-—a

Iﬂ«—a

=) L: \lj—o =~)-o0

S Y=a



%(ﬁmﬁ(%ﬂ) t §ec(7c—«j)) - J;‘(f(l)

S §ecz(7[f3) x (/+%) t gec(7) fzzm[vc—y [ I- —j%) =5

= 5’ (7Y)+ sec (% 49) tan ()
$eC (7Y) tu(29) — gec‘(ﬂﬂ)

33

27?1’%74—1 =2 (Eﬁ%ézf 7() (47(+46j )

5 (la‘ 2(7 3= ) %G“u] )< (meny ) -

Ger—| )= 2 (37297 %) -7

=) ;&\- z]-z(z,’)(—e)j 7() c?/ (jz

ae
-l x2x7

| — ax2xgxé¥ = | = L"(j—;ﬂ:&_o)

—

gé\/ (lel: (ﬁﬂ)z (4_31)
d, . d )
ﬁ(”‘ s) = J??((U*l) (4-g‘)]

.ﬂf‘ﬂlﬁ?ﬁ%}% :.l[lj-t\ M(q ) (‘jﬂ) (3)%(



d‘j 17(‘3l

_ > <2
o ¥=2p H0(eq) —zj(‘j*\Y-?(I}J ;::5 h 22 k(%) —axl ([ 41) - R
" . -4 . _ &
20 5
: _( = _‘Q
N < (7(~24?)
4. J ,o3) :[/7
Z(m-g) w0
TR 2 E
) 2 g )
. 4%
bx — '{7%3‘3‘3 T =0
¥, dY P L
éx—é&jg—g‘ = P T éj?* 5
x| 2% _ 22 oAt
i 9 vy
50 J;(_"J-j =‘—(I£
;C]E(J’jr-h"j)-—;; @)
Late gt o
d9_ -8 5 LY (-L)=—~//—;(a
S y - ‘,)
where o 5 = §C
7-wFercep . _(E (7-a)
Sum of WXJ—W&MF;&
) A= (L-{-cf_%_
[o-(—JEa e [B
g-vhort + g-be - B (o L ¢ bt Ea
> 9= L+ Jza

/4Zﬁ@a+e+J&”
= atbt 2@ @& =@

F <]



4 g zg«jL = 36

2 (rvey) = 509

= 2’1%9&%50
= M X . 2y =3) =) (7~
> °P7f;=u 4’7 7r=n_,:3=3— \ = L (3 3) =) (#-12)

9=3



